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1. Without using a calculator, calculate the value of 12.
Tx1=1

1(the answer to the last multiplication) x 1=1

So the answer to this question is 1.

2. Without using a calculator, calculate the value of 23

2x2=4
4x2=8
8x2=16

So the answer to this question is 16.

3. Without using a calculator, calculate the value of 4.

4x4=8
8x4=232
32 x4=128

So the answer to this question is 128.

4. Without using a calculator, calculate the value of 10°.
10 x 10 =100

100 x 10 = 1000

So the answer to this question is 1000.

5. Without using a calculator, calculate the value of 14.

Tx1=1
Tx1=1
Tx1=1

So the answer to this question is 1.



6. Without using a calculator, calculate the value of 24

2x2=4
4x2=8
8x2=16

So the answer to this question is 16.

7. Without using a calculator, calculate the value of 34.

5x35=9
Ox&=27
27 x 3 =81

So the answer to this question is 81.

8. Without using a calculator, calculate the value of 44

4x4=16
1B6x4=064
64 x 4 = 256

So the answer to this question is 256.
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